Monday 23rd March 2020
Find  of a number, shape and quantity (EXTENSION: Reasoning)

[bookmark: _Hlk35527315][bookmark: _Hlk35527316]Thursday 7th May 2020
Lesson 4: Select money 
	a) [image: ]True or false? The amount of money circled below is 35p.
	b) [image: ]True or false? The amount of money circled below is £2 and 55p.

	c) True or false? The amount of money circled below is £10 and 52p.

[image: ]
	d) True or false? The amount of money circled below is £7 and 93p
[image: ]


	


1. 
2. 
	a) Which box contains 50p?[image: ]
	b) Which box contains £1 and 25p?[image: ]

	c) Which box contains £12 and 64p[image: ]?
	d) Which box contains £7 and 17p?
[image: ]












3. 
	a) [image: ]Select the missing amount of money.
	b) [image: ]Select the missing amount of money.

	c) [image: ]Select the missing amount of money.
	d) [image: ]Select the missing amount of money.



4. Lottie has the amount shown below.
[image: ]







5. [image: ]Tom has the amount shown below.
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9a. True or false? The amount of money
circled below is £10 and 52p.

9b. True or false? The amount of money
circled below is £7 and 93p.
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7a. Select the missing amount of money. | 7b. Select the missing amount of money.

£5and 60p =£4 + (_J+50p + 10p £6and 25p =(_J+£1+20p +5p
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7a. Select the missing amount of money. | 7b. Select the missing amount of money.

g5and 60p=£4+( )+ 50p + 10p £6and 25p =]+ £1+20p +5p
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10b. Which box contains £7 and 17p?
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10b. Which box contains £7 and 17p?
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3a. Select the missing amount of money.
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4a. Lottie has the amount shown below.
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7a. Select the missing amount of money.

£5and 60p =£4 + (_J+50p + 10p
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8a. Will has the amount shown below.

8b. Ginny has the amount shown below.
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7a. Select the missing amount of money.

g5and 60p=£4+( )+ 50p +10p
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7b. Select the missing amount of money.
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8a. Will has the amount shown below.

8b. Ginny has the amount shown below.
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1a. True or false? The amount of money
circled below is 40p.

1b. True or false? The amount of money
circled below is 35p.
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5a. True or false? The amount of money 5b. True or false? The amount of money
circled below is 76p. circled below is £2 and 55p.
; VF
éa. Which box contains 50p? é6b. Which box contains £1 and 25p?
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9a. True or false? The amount of money
circled below is £10 and 52p.

9b. True or false? The amount of money
circled below is £7 and 93p.

10a. Which box contains £12 a
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